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asym_bcm_dg_us (ppb) 1D pull distribution
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diff_bpm4aX (nm) 1D pull distribution

= X2 I ndf 76.82/73

60— Mean 0.01347 + 0.1184
C pO 2.341+1.825 C
~ 18__ J_ Std Dev  1.019 + 0.08375
40— +
— F Underflow 0
20__ : Overflow 0
| 141 X2/ ndf 6.9/6
| A q L
0 v F
L ‘ e - Constant 13.69 + 2.23
12~
[ Mean  0.0185+0.1715
10 Sigma 1.14 +£0.17
8_
6_
e e e e e e B
. - v 4_
2
11 1 1 0-|||||| I|||||||||| ala
EE:O‘!N"R!C... LT TN ON O S SO -8 -6 —4 -2 0 2 4 6 8

e
RO S~ N N NN PN N
OGO OOOLLOLAOL NLoLLOLLOLOLILNLOLN OLOLOLAL oNLOLOLO0LIN
e R S A e e R T R R e R e ]




diff_bpm4aX RMS (um)

el L

(wn) SNY

0T'9.5€
6'9.5€
8'9/5¢€
L'9/G€
9'9/G¢
G'9/G€
7'9.G€
€'9.5¢€
C'9L5€
T'9/5€
0'9.5¢
0T'S.G€
6'G.GE
8'G.GE
L'SLSE
9'G/G€
§'G/G€
'SLGE
€'G.GE
¢'SLSE
T'SLS€E
0'G.5¢€
0T'v.S€
6'7.GE
8'V.GE
L'vLSE
9'V.LSE
S'v.SE
V'v.SE
€V.GE
[ ZA
Tv.SE
0'v.LSE
L'€LSE
9'€L5E
S'€LGE
V'€LGE
€'€LGE
C'E€LSE
T'€LSE
0'€L5€E
S'CLSE
v'¢LSE
€'¢.Ge
¢'¢lSE
T'¢LSE
0'C.LSE
V'T.S€
€TLGE
¢'T.SE
T'T.SE
0'T.LSE
¥'0L5€
€'0.5€
2'0.5€
T'0L5€
0'0.5¢
'695€
£'695¢€
2'695€
T'695€
0'695€
¥7'89G€
£'89G6¢€
2'895€
1'895€
0'895€
1,95
0,96
7'996¢€
£'996¢€
2'996¢€
T1'996€
0'996¢



diff_bpm4eX (nm)

X2 / ndf

300

200

100

-100

-200

pO

68.85/73
-14.48 + 9.816

FFATEET T

Lol
IO NS FOINCISLOO IO SILONO I SILXO~00000"

FINONO RO FOINONO™ OO NS
(KGKO=0F20000 i o Y 0L
QOO I NN N NN KA AR UL U NI
T TR T YT DL A LA AT SO SOOI
S S O e S B e S B R S e S R P T R

R i S R S

ALOCFICNEICEIOIILD
™ (]

1D pull distribution

Mean 0.005325 + 0.1121
i Std Dev 0.9646 + 0.07929
18-
B Underflow 0
16 Overflow 0
L X2/ ndf 2.59/8
14
B Constant 16.32+ 2.62
12~ Mean  -0.006186 * 0.111704
L Sigma 09328 + 01029
10
8 —
6 —
4
2 —
ol i | I il
-8 -6 -4 -2 0 2 4 6 8




diff_bpm4eX RMS (um)

el L

(wn) SNY

0T'9.5€
6'9.5€
8'9/5¢€
L'9/G€
9'9/G¢
G'9/G€
7'9.G€
€'9.5¢€
C'9L5€
T'9/5€
0'9.5¢
0T'S.G€
6'G.GE
8'G.GE
L'SLSE
9'G/G€
§'G/G€
'SLGE
€'G.GE
¢'SLSE
T'SLS€E
0'G.5¢€
0T'v.S€
6'7.GE
8'V.GE
L'vLSE
9'V.LSE
S'v.SE
V'v.SE
€V.GE
[ ZA
Tv.SE
0'v.LSE
L'€LSE
9'€L5E
S'€LGE
V'€LGE
€'€LGE
C'E€LSE
T'€LSE
0'€L5€E
S'CLSE
v'¢LSE
€'¢.Ge
¢'¢lSE
T'¢LSE
0'C.LSE
V'T.S€
€TLGE
¢'T.SE
T'T.SE
0'T.LSE
¥'0L5€
€'0.5€
2'0.5€
T'0L5€
0'0.5¢
'695€
£'695¢€
2'695€
T'695€
0'695€
¥7'89G€
£'89G6¢€
2'895€
1'895€
0'895€
1,95
0,96
7'996¢€
£'996¢€
2'996¢€
T1'996€
0'996¢



diff_bpm4aY (nm)

300 —
200 —

100 —

-100 _

-200 —

X2 / ndf

73.95/73
8.907 + 7.37

ALOLOLOLOL
NN

N
'\N\M\N\l\r\m\

e K H

RO S~ N N NN IO

Y5 T2 Yo o Yo Yo X o To L2 ¥o o Yo Yo X W Yo Ty 12, Mo To Tol OLOLOLNLALOLOLEALOLOLLOLOLALOEOLALOLOLOLALOLOLONL OLOLOLAOOLLONLGLOLOLOLOLOLALOLON
LS S O e A o 0 U e S S A S e B T B R S T S R TS 0%

R

ALOCFIICC
™

1D pull distribution

22

20

18

16

14

12

10

Mean 0.02911+ 0.1162

Std Dev  0.9992 + 0.08214

Underflow 0
Overflow 0
X2/ ndf 10.31/8
Constant 14.23 +2.38
Mean 0.1153 £ 0.1326
Sigma 0.9543 + 0.1076

CJOO

-5

-4

-2

0

2




diff_bpm4aY RMS (um)

___________________________________t__

NN NN NN

n ©
0

(wn) SNY

0
N~

~

L
©

©

L
To)

o

0T'9.5€
6'9.5€
8'9/5¢€
L'9/G€
9'9/G¢
G'9/G€
7'9.G€
€'9.5¢€
C'9L5€
T'9/5€
0'9.5¢
0T'S.G€
6'G.GE
8'G.GE
L'SLSE
9'G/G€
§'G/G€
'SLGE
€'G.GE
¢'SLSE
T'SLS€E
0'G.5¢€
0T'v.S€
6'7.GE
8'V.GE
L'vLSE
9'V.LSE
S'v.SE
V'v.SE
€V.GE
[ ZA
Tv.SE
0'v.LSE
L'€LSE
9'€L5E
S'€LGE
V'€LGE
€'€LGE
C'E€LSE
T'€LSE
0'€L5€E
S'CLSE
v'¢LSE
€'¢.Ge
¢'¢lSE
T'¢LSE
0'C.LSE
V'T.S€
€TLGE
¢'T.SE
T'T.SE
0'T.LSE
¥'0L5€
€'0.5€
2'0.5€
T'0L5€
0'0.5¢
'695€
£'695¢€
2'695€
T'695€
0'695€
¥7'89G€
£'89G6¢€
2'895€
1'895€
0'895€
1,95
0,96
7'996¢€
£'996¢€
2'996¢€
T1'996€
0'996¢



diff_bpm4eY (nm)

200

150

100

50

-50

-100

-150

X2 / ndf
p0

774173
1.809 + 5.012

L1

-3 TN RSN RN RN NN S TN SRR Ll
O NN OO NN O MO NMN O™ NMSTOINMSILNO INMSILOONO A SILO~0000T NOISHLOXON X
GOSGO=0FRa30s e CCCRINRRIN NIRRT T 3
o RO S~ N N R R N N N N N N P P SN SESre IO
Y5 T2 Yo o Yo Yo X o To L2 ¥o o Yo Yo X W Yo Ty 12, Mo To Tol OLOLOLFLOLALOLOLELOLOLALOLOLALOKILALOLOLOLOLOLOLONL OLOLOLAOOLLONLGLOLOLOLOLOLALOLON
AT B e R e o S B e e A T e R s 0%

R

ALOCFIICC
™

NONCICNLD
(]

1D pull distribution

Mean 0.02186 + 0.1189
16~ Std Dev 1.023 + 0.08405
| Underflow 0
14
- Overflow [
B X2 I ndf 4.866/8
12
| Constant 15.09 + 2.39
10+ Mean -0.003759 + 0.124942
B Sigma 0.9895 + 0.1115
sk
6 —
4
2
il | il
-8 -6 -2 0 2 4 6 8



diff_bpm4eY RMS (um)

NN N NN NN NN NN NN NN NN NN NN

(wn) SNY

0T'9.5€
6'9.5€
8'9/5¢€
L'9/G€
9'9/G¢
G'9/G€
7'9.G€
€'9.5¢€
C'9L5€
T'9/5€
0'9.5¢
0T'S.G€
6'G.GE
8'G.GE
L'SLSE
9'G/G€
§'G/G€
'SLGE
€'G.GE
¢'SLSE
T'SLS€E
0'G.5¢€
0T'v.S€
6'7.GE
8'V.GE
L'vLSE
9'V.LSE
S'v.SE
V'v.SE
€V.GE
[ ZA
Tv.SE
0'v.LSE
L'€LSE
9'€L5E
S'€LGE
V'€LGE
€'€LGE
C'E€LSE
T'€LSE
0'€L5€E
S'CLSE
v'¢LSE
€'¢.Ge
¢'¢lSE
T'¢LSE
0'C.LSE
V'T.S€
€TLGE
¢'T.SE
T'T.SE
0'T.LSE
¥'0L5€
€'0.5€
2'0.5€
T'0L5€
0'0.5¢
'695€
£'695¢€
2'695€
T'695€
0'695€
¥7'89G€
£'89G6¢€
2'895€
1'895€
0'895€
1,95
0,96
7'996¢€
£'996¢€
2'996¢€
T1'996€
0'996¢



200

100

-100

diff_bpm1

1X (nm)

X2 / ndf
p0

67.81/73
6.512 + 7.835

Lddalld.l

NG

XOON

Aot b b g
NN OISO IO

i
A RNSERI)

TNt

N
’\N\I\I\N\l\l\ﬁ‘

e K H

OO ST~ N N NN G238 IO

L oLOGLOOOIOIOGOLOLA0L nmlmdﬁmmmmd{)mlmrmnmnmnnmlmnmmn\l OLOLOLAOOLLONLGLOLOLOLOLOLALOLON
[ R e A o e B o o e o B e R o D e S A e B P A S 0%

R

ALOCFIICC
™

16

14

12

10

1D pull distribution

Mean 0.01457 £ 0.1113

Std Dev  0.9572 + 0.07868

Underflow 0
Overflow 0
X2/ ndf 274615
Constant 14.83 +2.14
Mean 0.1468 + 0.1607

Sigma 1.124 + 0.131

-5

-4

-2 0 2 4 6 8



diff_bpm11X RMS (um)

el et

(wn) SNY

0T'9.5€
6'9.5€
8'9/5¢€
L'9/G€
9'9/G¢
G'9/G€
7'9.G€
€'9.5¢€
C'9L5€
T'9/5€
0'9.5¢
0T'S.G€
6'G.GE
8'G.GE
L'SLSE
9'G/G€
§'G/G€
'SLGE
€'G.GE
¢'SLSE
T'SLS€E
0'G.5¢€
0T'v.S€
6'7.GE
8'V.GE
L'vLSE
9'V.LSE
S'v.SE
V'v.SE
€V.GE
[ ZA
Tv.SE
0'v.LSE
L'€LSE
9'€L5E
S'€LGE
V'€LGE
€'€LGE
C'E€LSE
T'€LSE
0'€L5€E
S'CLSE
v'¢LSE
€'¢.Ge
¢'¢lSE
T'¢LSE
0'C.LSE
V'T.S€
€TLGE
¢'T.SE
T'T.SE
0'T.LSE
¥'0L5€
€'0.5€
2'0.5€
T'0L5€
0'0.5¢
'695€
£'695¢€
2'695€
T'695€
0'695€
¥7'89G€
£'89G6¢€
2'895€
1'895€
0'895€
1,95
0,96
7'996¢€
£'996¢€
2'996¢€
T1'996€
0'996¢



diff_bpm12X (nm) 1D pull distribution
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